(NOTE: Hypothesis testing only for independent variable slopes (b1 and b2). Calculate the 95% Confidence intervals for b1 and b2.) 
3	THE FUEL CONSUMPTION CASE 
Use the output in (Fig 1a) to do (1) through (6) for each of β0, β1, and β2 .

(Fig-1a)	t Statistics and p-Values for Four Case Studies
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1	Find bj, sbj, and the t statistic for testing H0 : βj = 0 on the output and report their values. Show how t has been calculated by using bj and sbj .
2	Using the t statistic and appropriate critical values, test H0 : β1 = 0 versus Ha : ≠ 0 by setting a equal to .05. Which independent variables are significantly related to y in the model with a = .05?
3	Using the t statistic and appropriate critical values, test H0 : βj = 0 versus Ha : βj ≠ 0 by setting α equal to .01. Which independent variables are significantly related to y in the model with α = .01?
4	Find the p-value for testing H0 : βj = 0 versus Ha : βj ≠ 0 on the output. Using the p-value, determine whether we can reject H0 by setting a equal to .10, .05, .01, and .001. What do you conclude about the significance of the independent variables in the model?
5	Calculate the 95 percent confidence interval for βj. Discuss one practical application of this interval.
6	Calculate the 99 percent confidence interval for βj .
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(a) MINITAB output for the fuel consumption case (sample size

Predictor Coef
Constant 13.1087
Temp -0.09001
Chill 0.08249

SE Coef T P
0.8557 15.32 0.000
0.01408 -6.39 0.001
0.02200 3.75 0.013

(b) MINITAB output for the real estate sales price case (sample size: n = 10)

Predictor Coef SE
Constant 29.347

HomeSize 5.6128 0
Rating 3.8344 0

Coef T P
4.891 6.00 0.001
.2285 24.56 0.000
.4332 8.85 0.000

(c) Excel output for the Fresh detergent case (sample size: n = 30)

Coefficients
Intercept 7.5891
Price (x1) -2.3577
IndPrice (x2) 1.6122
AdVExp (x3) 0.5012

Standard Error t Stat
2.4450 3.1039
0.6379 -3.6958
0.2954 5.4586
0.1259 3.9814

P-value Lower 95%

0.0046 2.5633
0.0010 -3.6690
0.0000 1.0051
0.0005 0.2424

(d) Excel output for the hospital labor needs case (sample size: n = 16)

Coefficients
Intercept 1946.8020
XRay (x1) 0.0386
BedDays (x2) 1.0394
LengthStay (x3) -413.7578

Standard Error
504.1819

0.0130

0.0676

98.5983

t Stat P-value
3.8613 0.0023
2.9579 0.0120
15.3857 2.91E-09
-4.1964 0.0012

Upper 95%
12.6149
-1.0464
22193
0.7599

Lower 95%
848.2840
0.0102
0.8922
-628.5850

Upper 95%
3045.3201
0.0670
1.1866
-198.9306




